
ОБОРОТ 
COMPLEX SUBJECT



Подлежащее                  сказуемое                         to инфинитив

Passive      know           suppose                seem                       Active     
                  believe  report                 happen
                  consider      say                         be (un)likely
                  hear             admit                    be sure
                  see               find                        appear
                  feel               predict                 turn out
                  expect         announce            prove
                  think

Climate is believed to have changed. Climate seems to have changed.



He was seen to be committing the crime.
Видели, что он совершает преступление.

They are believed to be innocent.
Полагают, что они невиновны.

She turned out to have stolen the money.
Оказалось, что она украла деньги. 
Она, как оказалось, украла деньги.


